

To: Dr. Charles Johns

Board of Education

From: Brad Swanson
Date: August 24, 2020

RE: Differential/Discretionary Responsibilities

Recommendation

The Administration recommends the Board of Education approve the Differential and Discretionary Responsibility list for the 2020-21 school year as presented.

Background

Please review the following information related to the Differential Responsibilities for Athletics, and both Differential and Discretionary for Activities. These recommendations are provided by each building for the 2020-21 school year. In the accompanying summary document, you will also find the dollar amounts for both schools in these areas for the 2019-20 and 2020-21 school years.

There is a 3.0% increase in the costs of these responsibilities from 2019-20 to 2020-21. The administration continues to work with the GEA and the Board to keep differential costs at the average or below our benchmark districts. The increase is a result of contractual obligations and some new coaches/sponsors who were placed higher on the salary schedule than previous staff members.

Please know that the remaining vacancies will be filled accordingly throughout the year.

District 225 Differential and Discretionary Summary 2020-21											
Stipend Category	2019-20	2020-21	Percent Change								
GBN Differential Responsibilities for Athletics	\$1,174,412	\$1,197,400									
GBS Differential Responsibilities for Athletics	\$1,152,469	\$1,181,491									
District 225 Differential Responsibilities for Athletics	\$2,326,881	\$2,378,891									
Yearly Difference		\$52,010	2.2%								
GBN Differential Responsibilities for Activities	\$427,890	\$409,451									
GBS Differential Responsibilities for Activities	\$368,585	\$430,233									
District 225 Differential Responsibilities for Activities	\$796,475	\$839,685									
Yearly Difference		\$43,210	5.4%								
GBN Discretionary Responsibilities for Activities	\$137,981	\$143,038									
GBS Discretionary Responsibilities for Activities	\$179,432	\$181,631									
District 225 Discretionary Responsibilities for Activities	\$317,413	\$324,669									
Yearly Difference		\$7,256	2.3%								
GBN Differential & Discretionary Responsibilities for Activities	\$565,871	\$552,490									
GBS Differential & Discretionary Responsibilities for Activities	\$548,017	\$611,864									
District 225 Differential & Discretionary Responsibilities for Activities	\$1,113,888	\$1,164,353									
Yearly Difference		\$50,465	4.5%								
District 225 Differential & Discretionary Responsibilities for Athletics & Activities	\$3,440,769	\$3,543,244									
Yearly Difference		\$102,475	3.0%								
Historical Yearly Difference	2018-19	2019-20	2.5%								
	2017-18	2018-19	5.5%								
	2016-17	2017-18	1.6%								
	2015-16	2016-17	4.6%								
	2014-15	2015-16	-1.2%								

	2020-2021 Glenbrook North High School - Athletic Differentials											
Assignment	Position	Season	Last Name	First Name	Lane	Step	FTE	Stipend				
Badminton	Head Coach	Spring	Kim	Tiffany	IV	8	1	\$10,359				
Badminton	Asst Coach	Spring	Petty	Kim	VI	8	1	\$7,583				
Badminton	Asst Coach	Spring	TBD	TBD	VI	8	1	\$7,583				
Baseball	Head Coach	Summer	Savino	Dominic	II	8	1	\$12,717				
Baseball	Asst Coach	Summer	Howard	Josh	IV	6	1	\$9,046				
Baseball	Asst Coach	Summer	Graham	Ryan	IV	8	1	\$10,359				
Baseball	Asst Coach	Summer	Selk	Caleb	III	3	0.66	\$4,059				
Baseball	Asst Coach	Summer	Hinkamp	Zach	IV	3	0.66	\$4,873				
Baseball	Asst Coach	Summer	Scott	Daniel	IV	8	0.66	\$6,837				
Baseball	Asst Coach	Summer	Weiner	Justin	IV	8	1	\$10,359				
Basketball - Boys	Head Coach	Winter	Hayes	Quin	I	8	1	\$14,075				
Basketball - Boys	Asst Coach	Winter	TBD	TBD	III	8	1	\$11,387				
Basketball - Boys	Asst Coach	Winter	Kardos	Jordan	III	8	1	\$11,387				
Basketball - Boys	Asst Coach	Winter	McDonaugh	Brian	III	8	1	\$11,387				
Basketball - Boys	Asst Coach	Winter	Miller	Matthew	III	8	1	\$11,387				
Basketball - Girls	Head Coach	Winter	Capalbo	Nick	I	7	1	\$13,154				
Basketball - Girls	Asst Coach	Winter	Weissenstein	Steve	III	8	1	\$11,387				
Basketball - Girls	Asst Coach	Winter	Fastert	Matthew	III	8	1	\$11,387				
Basketball - Girls	Asst Coach	Winter	Glasbrook (Rieger)	Jackie	III	7	1	\$10,641				
Basketball - Girls	Asst Coach	Winter	Wallis	Amanda	III	7	1	\$10,641				
Bowling - Boys	Head Coach	Winter	Rubin	Todd	IV	8	1	\$10,359				
Bowling - Boys	Asst Coach	Winter	Nisi	Mike	VI	8	1	\$7,583				
Bowling - Girls	Head Coach	Winter	Izenstark	Matthew	IV	8	1	\$10,359				
Bowling - Girls	Asst Coach	Winter	Newburger (Kotwica)	Kerri	VI	8	0.5	\$3,792				
Bowling - Girls	Asst Coach	Winter	Ruesch	Laura	VI	8	0.5	\$3,792				
Cheerleading	Head Coach	Winter/Spring	Wilhelm	Gregory	III	8	1	\$11,387				
Cheerleading	Asst Coach	Winter/Spring	Starbenz	Allison	V	4	1	\$6,809				

2020-2021 Glenbrook North High School - Athletic Differentials											
Assignment	Position	Season	Last Name	First Name	Lane	Step	FTE	Stipend			
Cheerleading	Asst Coach	Winter/Spring	Rathunde	Leslie	V	7	1	\$8,340			
Cheerleading	Asst Coach	Winter/Spring	Dorgan (Revord)	Jessica	V	5	1	\$7,285			
Cross Country - Boys	Head Coach	Fall	Race	William	III	8	1	\$11,387			
Cross Country - Boys	Asst Coach	Fall	Vincent	David	V	8	1	\$8,922			
Cross Country - Girls	Head Coach	Fall	LeBlanc	Robert	III	8	1	\$11,387			
Cross Country - Girls	Asst Coach	Fall	Gonzalez	Lori	V	8	1	\$8,922			
Events Manager	Manager	Winter	Vignocchi	Paul	V	8	1	\$8,922			
Football	Asst Coach	Spring	Brandt	Ernest	IV	8	1	\$10,359			
Football	Asst Coach	Spring	Haggis	Matthew	IV	8	1	\$10,359			
Football	Asst Coach	Spring	Hokin	Brad	IV	8	1	\$10,359			
Football	Asst Coach	Spring	Williams	Scott	IV	8	1	\$10,359			
Football	Asst Coach	Spring	Brandt	Sean	IV	6	1	\$9,046			
Football	Asst Coach	Spring	Hinkamp	Zach	IV	3	0.5	\$3,692			
Football	Asst Coach	Spring	Weiner	Justin	III	8	1	\$11,387			
Football - Freshman	Head Coach	Spring	Gilchrist	John	III	8	0.5	\$5,694			
Football - Sophomore	Head Coach	Spring	Miller	Matthew	III	8	1	\$11,387			
Football - Varsity	Head Coach	Spring	Purdy	Matthew	I	8	1	\$14,075			
Football - Varsity	Asst Coach	Spring	Pieper	Robert	III	8	1	\$11,387			
Football - Varsity	Asst Coach	Spring	Georgacakis	Justin	III	8	1	\$11,387			
Football - Varsity	Asst Coach	Spring	Savino	Dominic	III	8	1	\$11,387			
Golf - Boys	Head Coach	Fall	Gerbich	Justin	IV	8	1	\$10,359			
Golf - Boys	Asst Coach	Fall	Harnack	Pamela	VI	8	1	\$7,583			
Golf - Girls	Head Coach	Fall	Schroeder	Michael	IV	8	1	\$10,359			
Golf - Girls	Asst Coach	Fall	Capalbo	Nick	VI	8	0.6	\$4,550			
Golf - Girls	Asst Coach	Fall	Dechter	Talia	VI	3	0.4	\$2,160			
Gymnastics - Boys	Head Coach	Spring	Dul	Ryan	III	8	1	\$11,387			
Gymnastics - Boys	Asst Coach	Spring	Denk	Garry	V	8	1	\$8,922			

	2020-20	21 Glenbrook N	North High School -	Athletic Differe	ntials			
Assignment	Position	Season	Last Name	First Name	Lane	Step	FTE	Stipend
Gymnastics - Boys	Asst Coach	Spring	Wilhelm	Gregory	V	8	1	\$8,922
Gymnastics - Girls	Head Coach	Winter	Holmbeck	Julie	III	8	1	\$11,387
Gymnastics - Girls	Asst Coach	Winter	TBD	TBD	V	6	1	\$7,797
Gymnastics - Girls	Asst Coach	Winter	Romito	Anthony	V	6	1	\$7,797
Lacrosse - Boys	Head Coach	Summer	Georgacakis	Justin	III	8	1	\$11,387
Lacrosse - Boys	Asst Coach	Summer	Haggis	Matthew	V	8	1	\$8,922
Lacrosse - Boys	Asst Coach	Summer	Luke	Gregory	V	6	1	\$7,797
Lacrosse - Boys	Asst Coach	Summer	Skale	Darryl	V	8	1	\$8,922
Lacrosse - Girls	Head Coach	Summer	Rosenbaum	Tom	III	8	1	\$11,387
Lacrosse - Girls	Asst Coach	Summer	McCormack	Emily	V	3	1	\$6,362
Lacrosse - Girls	Asst Coach	Summer	Cavender	Nina	V	3	1	\$6,362
Lacrosse - Girls	Asst Coach	Summer	TBD	TBD	V	8	1	\$8,922
Soccer - Boys	Head Coach	Spring	Vignocchi	Paul	II	8	1	\$12,717
Soccer - Boys	Asst Coach	Spring	Gibbs	Paul	IV	8	1	\$10,359
Soccer - Boys	Asst Coach	Spring	Loch	Craig	IV	8	1	\$10,359
Soccer - Boys	Asst Coach	Spring	Niemiec	Craig	IV	8	1	\$10,359
Soccer - Boys	Asst Coach	Spring	Vickery	Jillian	IV	8	1	\$10,359
Soccer - Boys	Asst Coach	Spring	Valsamis	Tony	IV	6	1	\$9,046
Soccer - Girls	Head Coach	Summer	Valsamis	Anthony	II	6	1	\$11,103
Soccer - Girls	Asst Coach	Summer	Gibbs	Paul	IV	8	1	\$10,359
Soccer - Girls	Asst Coach	Summer	Loch	Craig	IV	8	1	\$10,359
Soccer - Girls	Asst Coach	Summer	TBD	TBD	IV	5	0.66	\$5,580
Soccer - Girls	Asst Coach	Summer	Remeniuk	Adrian	IV	5	0.66	\$5,580
Soccer - Girls	Asst Coach	Summer	Vignocchi	Paul	IV	8	0.66	\$6,837
Softball	Head Coach	Summer	Matsunaga	Bridget	II	8	1	\$12,717
Softball	Asst Coach	Summer	Conrad	Chris	IV	7	0.5	\$4,840
Softball	Asst Coach	Summer	Plaza	Scott	IV	6	1	\$9,046

	2020-2021 Glenbrook North High School - Athletic Differentials											
Assignment	Position	Season	Last Name	First Name	Lane	Step	FTE	Stipend				
Softball	Asst Coach	Summer	Nisi	Mike	IV	8	1	\$10,359				
Softball	Asst Coach	Summer	Ruppert	Barry	IV	8	1	\$10,359				
Softball	Asst Coach	Summer	Rymer	Kristi	IV	7	0.5	\$4,840				
Swimming - Boys	Head Coach	Winter	Schroeder	Jarod	II	8	1	\$12,717				
Swimming - Boys	Asst Coach	Winter	Jornd	Justin	IV	5	1	\$8,454				
Swimming - Boys	Asst Coach	Winter	Johnston	Traci	IV	8	1	\$10,359				
Swimming - Boys	Asst Coach	Winter	Roby	Jessica	IV	8	1	\$10,359				
Swimming - Girls	Head Coach	Fall	Schroeder	Jarod	II	8	1	\$12,717				
Swimming - Girls	Asst Coach	Fall	Fournier	John	IV	8	1	\$10,359				
Swimming - Girls	Asst Coach	Fall	Jornd	Justin	IV	5	1	\$8,454				
Swimming - Girls	Asst Coach	Fall	Roby	Jessica Werner	IV	8	1	\$10,359				
Tennis - Boys	Head Coach	Summer	Jordan	Jeff	IV	8	1	\$10,359				
Tennis - Boys	Asst Coach	Summer	English	Michael	VI	8	1	\$7,583				
Tennis - Boys	Asst Coach	Summer	Capalbo	Nick	VI	7	1	\$7,086				
Tennis - Girls	Head Coach	Fall	Holecek	Marketa	IV	8	1	\$10,359				
Tennis - Girls	Asst Coach	Fall	Faulkner	Larry	VI	8	1	\$7,583				
Tennis - Girls	Asst Coach	Fall	Shamrock	Emily	VI	8	1	\$7,583				
Track	Asst Coach	Summer (outdoor)	Berg	Robert	IV	8	1	\$10,359				
Track	Asst Coach	Summer (outdoor)	Brown	Aaron	IV	8	1	\$10,359				
Track	Asst Coach	Summer (outdoor)	Fastert	Matthew	IV	8	1	\$10,359				
Track	Asst Coach	Summer (outdoor)	DiCristafano	Antonio	IV	6	1	\$9,046				
Track	Asst Coach	Summer (outdoor)	Holecek	Marketa	IV	8	1	\$10,359				
Track	Asst Coach	Summer (outdoor)	Hokin	Brad	IV	8	1	\$10,359				
Track	Asst Coach	Summer (outdoor)	Musolf	Bryan	IV	7	1	\$9,679				
Track	Asst Coach	Summer (outdoor)	Vincent	David	IV	8	1	\$10,359				
Track - Boys	Head Coach	Summer (outdoor)	Brandt	Sean	II	6	1	\$11,103				
Track - Girls	Head Coach	Summer (outdoor)	TBD	TBD	II	8	1	\$12,717				

2020-2021 Glenbrook North High School - Athletic Differentials										
Assignment	Position	Season	Last Name	First Name	Lane	Step	FTE	Stipend		
Volleyball - Boys	Head Coach	Summer (outdoor)	Cooper	Christopher	IV	8	1	\$10,359		
Volleyball - Boys	Asst Coach	Summer (outdoor)	Phillips	Penn	V	8	1	\$8,922		
Volleyball - Boys	Asst Coach	Summer (outdoor)	Hoover Jr	James	V	8	1	\$8,922		
Volleyball - Boys	Asst Coach	Summer (outdoor)	Sullivan	Margaret	V	8	1	\$8,922		
Volleyball - Boys	Asst Coach	Summer (outdoor)	Kudert	Grant	V	8	1	\$8,922		
Volleyball - Girls	Head Coach	Spring	Kim	Tiffany	III	8	1	\$11,387		
Volleyball - Girls	Asst Coach	Spring	Villamil (Herbst)	Kari	V	7	1	\$8,340		
Volleyball - Girls	Asst Coach	Spring	Phillips	Penn	V	8	1	\$8,922		
Volleyball - Girls	Asst Coach	Spring	TBD	TBD	V	2	0.5	\$2,946		
Volleyball - Girls	Asst Coach	Spring	Emmert	Lauren	V	2	1	\$5,892		
Volleyball - Girls	Asst Coach	Spring	Kudert	Grant	V	8	1	\$8,922		
Water Polo - Boys	Head Coach	Spring	Przekota	John	IV	8	1	\$10,359		
Water Polo - Boys	Asst Coach	Spring	Joyce	Brian	VI	8	1	\$7,583		
Water Polo - Girls	Head Coach	Spring	Fournier	John	IV	8	1	\$10,359		
Water Polo - Girls	Asst Coach	Spring	Johnston	Traci	VI	8	1	\$7,583		
Wrestling	Head Coach	Winter	Erwinski	Jason	II	8	1	\$12,717		
Wrestling	Asst Coach	Winter	Ossey	Jim	IV	8	1	\$10,359		
Wrestling	Asst Coach	Winter	Ganas	Nick	IV	6	1	\$9,046		
Wrestling	Asst Coach	Winter	Gatchalian	Ronald	IV	8	1	\$10,359		
Wrestling	Asst Coach	Winter	Hokin	Brad	IV	8	1	\$10,359		
								\$1,197,400		

	2020-2021 Glenbrook South High School - Athletic Differentials										
Assignment	Position	Season	Last Name	First Name	Lane	Step	FTE	Stipend			
Badminton	Head Coach	Spring	Kimura	Teresa	IV	8	1	\$10,359			
Badminton	Asst Coach	Spring	TBD	TBD	VI	2	1	\$5,011			
Badminton	Asst Coach	Spring	Nitahara	Kelli	VI	8	1	\$7,583			
Baseball	Head Coach	Summer	Stanicek	Stephen	II	8	1	\$12,717			
Baseball	Asst Coach	Summer	Gallagher	Mark	IV	8	1	\$10,359			
Baseball	Asst Coach	Summer	Greenberg	Alan	IV	8	1	\$10,359			
Baseball	Asst Coach	Summer	Myers	Travis	IV	8	1	\$10,359			
Baseball	Asst Coach	Summer	Stanton	Joshua	IV	8	1	\$10,359			
Baseball	Asst Coach	Summer	Harris	Terry	IV	8	1	\$10,359			
Basketball - Boys	Head Coach	Winter	Ralston	Phil	I	8	1	\$14,075			
Basketball - Boys	Asst Coach	Winter	Kapsimalis	Greg	III	8	1	\$11,387			
Basketball - Boys	Asst Coach	Winter	Cowhey	Robert	III	8	1	\$11,387			
Basketball - Boys	Asst Coach	Winter	Knoeppel	Mark	III	8	1	\$11,387			
Basketball - Boys	Asst Coach	Winter	Walker	Zachary	III	8	1	\$11,387			
Basketball - Girls	Head Coach	Winter	Nemecek	Scott	I	8	1	\$14,075			
Basketball - Girls	Asst Coach	Winter	Klasen	John	III	8	1	\$11,387			
Basketball - Girls	Asst Coach	Winter	Pfister (Regan)	Melissa	III	8	1	\$11,387			
Basketball - Girls	Asst Coach	Winter	Gallagher	Mark	III	8	1	\$11,387			
Basketball - Girls	Asst Coach	Winter	Mazza	Arianna	III	7	1	\$10,641			
Cheerleading	Asst Coach	Winter/Spring	Ghanem	Ruquieyah (Ki)	V	5	1	\$7,285			
Cheerleading	Head Coach	Winter/Spring	Middleton	Amanda	III	5	1	\$9,295			
Cheerleading	Asst Coach	Winter/Spring	Phillips	Jasmine	V	7	1	\$8,340			
Cross Country - Boys	Head Coach	Fall	Hasenstein	Kurt	III	8	1	\$11,387			
Cross Country - Boys	Asst Coach	Fall	Monahan	Tim	V	8	1	\$8,922			
Cross Country - Girls	Head Coach	Fall	Fastert	Meghan	III	8	1	\$11,387			
Cross Country - Girls	Asst Coach	Fall	Kaminski	Natalie	V	6	1	\$7,797			
Events Manager	Manager	All	Monahan	Tim	V	8	1	\$8,922			

2020-2021 Glenbrook South High School - Athletic Differentials										
Assignment	Position	Season	Last Name	First Name	Lane	Step	FTE	Stipend		
Field Hockey	Head Coach	Spring	Rosenbaum	Thomas	III	8	1	\$11,387		
Field Hockey	Asst Coach	Spring	Boehmer	Dana	V	8	1	\$8,922		
Field Hockey	Asst Coach	Spring	Derrig	Kelly	V	8	1	\$8,922		
Football	Asst Coach	Spring	Greenberg	Alan	IV	8	1	\$10,359		
Football	Asst Coach	Spring	Joshi	Pa'al	IV	8	1	\$10,359		
Football	Asst Coach	Spring	Bajjalieh	David	IV	3	1	\$7,383		
Football	Asst Coach	Spring	Clendenning	Adam	IV	8	1	\$10,359		
Football	Asst Coach	Spring	Klasen	John	IV	8	1	\$10,359		
Football - Freshman	Head Coach	Spring	Cowhey	Robert	III	8	1	\$11,387		
Football - Sophomore	Head Coach	Spring	Walker	Zachary	III	8	1	\$11,387		
Football - Varsity	Head Coach	Spring	Schoenwetter	David	I	8	1	\$14,075		
Football - Varsity	Asst Coach	Spring	Stanicek	Steve	III	8	1	\$11,387		
Football - Varsity	Asst Coach	Spring	Mietus	Thomas	III	8	1	\$11,387		
Football - Varsity	Asst Coach	Spring	Myers	Travis	III	8	1	\$11,387		
Football - Varsity	Asst Coach	Spring	Johlie	Matthew	III	8	1	\$11,387		
Golf - Boys	Head Coach	Fall	Paek	Jeff	IV	8	1	\$10,359		
Golf - Boys	Asst Coach	Fall	Farber	Stephen	VI	8	1	\$7,583		
Golf - Girls	Head Coach	Fall	Cieplik	Thomas	IV	6	1	\$9,046		
Golf - Girls	Asst Coach	Fall	Stanton	Joshua	VI	8	1	\$7,583		
Gymnastics - Boys	Head Coach	Spring	Tucker	Brandon	III	8	1	\$11,387		
Gymnastics - Boys	Asst Coach	Spring	Powers	Kimberly	V	8	1	\$8,922		
Gymnastics - Boys	Asst Coach	Spring	Gale	Stephen	V	8	1	\$8,922		
Gymnastics - Girls	Head Coach	Winter	Gale	Stephen	III	8	1	\$11,387		
Gymnastics - Girls	Asst Coach	Winter	Sachs	Karly	V	5	1	\$7,285		
Gymnastics - Girls	Asst Coach	Winter	Waller	Kurt	V	8	1	\$8,922		
Lacrosse - Boys	Head Coach	Summer	Larsen	Matthew	III	8	1	\$11,387		
Lacrosse - Boys	Asst Coach	Summer	Infante	Joe	V	8	1	\$8,922		

2020-2021 Glenbrook South High School - Athletic Differentials											
Assignment	Position	Season	Last Name	First Name	Lane	Step	FTE	Stipend			
Lacrosse - Boys	Asst Coach	Summer	Otoole	Jack	V	8	1	\$8,922			
Lacrosse - Boys	Asst Coach	Summer	Cygnar	John	V	8	1	\$8,922			
Lacrosse - Girls	Head Coach	Summer	Lesch	Anne	III	8	1	\$11,387			
Lacrosse - Girls	Asst Coach	Summer	McCue	Devin	V	8	1	\$8,922			
Lacrosse - Girls	Asst Coach	Summer	Dickson	Hannah	V	8	1	\$8,922			
Lacrosse - Girls	Asst Coach	Summer	Derrig	Kelly	V	8	1	\$8,922			
Soccer - Boys	Head Coach	Spring	Lara	Reggie	II	8	1	\$12,717			
Soccer - Boys	Asst Coach	Spring	Zamora	Jorge	IV	8	1	\$10,359			
Soccer - Boys	Asst Coach	Spring	Adams	Caitlin	IV	3	1	\$7,383			
Soccer - Boys	Asst Coach	Spring	Daniels	Mark	IV	8	1	\$10,359			
Soccer - Boys	Asst Coach	Spring	Remeniuk	Adrian	IV	2	1	\$6,839			
Soccer - Boys	Asst Coach	Spring	Franson	David	IV	7	1	\$9,679			
Soccer - Girls	Head Coach	Summer	Daniels	Mark	II	8	1	\$12,717			
Soccer - Girls	Asst Coach	Summer	Franson	David	IV	7	1	\$9,679			
Soccer - Girls	Asst Coach	Summer	Zamora	Jorge	IV	8	1	\$10,359			
Soccer - Girls	Asst Coach	Summer	Lara	Raymond (Reggie)	IV	8	1	\$10,359			
Soccer - Girls	Asst Coach	Summer	TBD	TBD	IV	8	1	\$10,359			
Softball	Head Coach	Summer	Boehmer	Dana	II	8	1	\$12,717			
Softball	Asst Coach	Summer	Hopkins	Robert	IV	8	1	\$10,359			
Softball	Asst Coach	Summer	Cichowski	Timothy	IV	8	1	\$10,359			
Softball	Asst Coach	Summer	Wilson (Dolce)	Stephanie	IV	8	1	\$10,359			
Softball	Asst Coach	Summer	Pearson (Rauschenberg)	Melissa	IV	8	1	\$10,359			
Swimming - Boys	Head Coach	Winter	MacDonald	Keith	II	8	1	\$12,717			
Swimming - Boys	Asst Coach	Winter	Duffy	Laura	IV	8	1	\$10,359			
Swimming - Boys	Asst Coach	Winter	Heidkamp	Callan	IV	7	1	\$9,679			
Swimming - Boys	Asst Coach	Winter	Lieberman	David	IV	8	1	\$10,359			
Swimming - Girls	Head Coach	Fall	Kiraly	Kimberly	II	8	1	\$12,717			

	2020-2021 Glenbrook South High School - Athletic Differentials											
Assignment	Position	Season	Last Name	First Name	Lane	Step	FTE	Stipend				
Swimming - Girls	Asst Coach	Fall	MacDonald	Keith	IV	8	1	\$10,359				
Swimming - Girls	Asst Coach	Fall	Ethington	Brittanny	IV	8	1	\$10,359				
Swimming - Girls	Asst Coach	Fall	Duffy	Laura	IV	8	1	\$10,359				
Tennis - Boys	Head Coach	Summer	Faulkner	Larry	IV	8	1	\$10,359				
Tennis - Boys	Asst Coach	Summer	Ahlgrim	Meghan	VI	7	1	\$7,086				
Tennis - Boys	Asst Coach	Summer	Lange	William	VI	8	1	\$7,583				
Tennis - Girls	Head Coach	Fall	Ahlgrim	Meghan	IV	6	1	\$9,046				
Tennis - Girls	Asst Coach	Fall	Gilbert	Scott	VI	8	1	\$7,583				
Tennis - Girls	Asst Coach	Fall	Davis	Susan	VI	3	1	\$5,400				
Track	Asst Coach	Summer (outdoor)	Lonergan	James	IV	8	1	\$10,359				
Track	Asst Coach	Summer (outdoor)	TBD	TBD	IV	8	1	\$10,359				
Track	Asst Coach	Summer (outdoor)	Kaminski	Natalie	IV	6	1	\$11,103				
Track	Asst Coach	Summer (outdoor)	Novotny	Jonathan	IV	8	1	\$10,359				
Track	Asst Coach	Summer (outdoor)	Piscitelli	Matthew	IV	8	1	\$10,359				
Track	Asst Coach	Summer (outdoor)	Widner	Ben	IV	8	1	\$10,359				
Track	Asst Coach	Summer (outdoor)	Thomas	Madeline	IV	6	1	\$9,046				
Track - Boys	Head Coach	Summer (outdoor)	Hasenstein	Kurt	II	8	1	\$12,717				
Track - Girls	Head Coach	Summer (outdoor)	Zapler	Daniel	II	8	1	\$12,717				
Volleyball - Boys	Head Coach	Summer	Kotsadam (Fesl)	Ann	III	8	1	\$11,387				
Volleyball - Boys	Asst Coach	Summer	Carpenter	Dan	V	8	1	\$8,922				
Volleyball - Boys	Asst Coach	Summer	Kelliher	Victoria	V	8	1	\$8,922				
Volleyball - Boys	Asst Coach	Summer	Krzyzak	Eryk	V	3	1	\$6,362				
Volleyball - Boys	Asst Coach	Summer	Monahan	Tim	V	8	1	\$8,922				
Volleyball - Girls	Head Coach	Spring	Dorn	Kelly	III	8	1	\$11,387				
Volleyball - Girls	Asst Coach	Spring	Kelliher	Victoria	V	7	1	\$8,340				
Volleyball - Girls	Asst Coach	Spring	Hopkins	Robert	V	8	1	\$8,922				
Volleyball - Girls	Asst Coach	Spring	Kotsadam (Fesl)	Anne	V	8	1	\$8,922				

	2020-2021 Glenbrook South High School - Athletic Differentials										
Assignment	Position	Season	Last Name	First Name	Lane	Step	FTE	Stipend			
Volleyball - Girls	Asst Coach	Spring	Oziminski	Kelley	V	6	1	\$7,797			
Water Polo - Boys	Head Coach	Spring	Lieberman	David	IV	8	1	\$10,359			
Water Polo - Boys	Asst Coach	Spring	Goodspeed	Kerry	VI	3	1	\$5,400			
Water Polo - Girls	Head Coach	Spring	Stancik	Michael	IV	8	1	\$10,359			
Water Polo - Girls	Asst Coach	Spring	Kiraly	Kimberly	VI	8	1	\$7,583			
Wrestling	Head Coach	Winter	Castillo	Patrick	II	8	1	\$12,717			
Wrestling	Asst Coach	Winter	Albandia	Christopher	IV	8	1	\$10,359			
Wrestling	Asst Coach	Winter	Cichowski	Timothy	IV	8	0.5	\$5,180			
Wrestling	Asst Coach	Winter	Greenberg	Alan	IV	8	0.5	\$5,180			
Wrestling	Asst Coach	Winter	Castillo	Mike	IV	8	0.5	\$5,180			
Wrestling	Asst Coach	Winter	Gould	David	IV	8	0.5	\$5,180			
Wrestling	Asst Coach	Winter	Clendenning	Adam	IV	8	1	\$10,359			
								\$1,181,491			

2020-2021 Glenbrook North High School - Activities Differentials										
Assignment	Position	Employee	Lane	Step	FTE	Stipend				
Advanced Choral	Director	Davidson, Chad	VII	8	1.0	\$6,702.00				
Chess	Head Coach	Campbell, Michael	III	8	1.0	\$11,387.00				
Class - Freshman	Coordinator	Kallay, Jeffrey	VIII	8	1.0	\$5,798.00				
Class - Junior	Coordinator	Fluegge, Danielle	VII	8	1.0	\$6,702.00				
Class - Senior	Coordinator	Jordan, Jenny	VI	8	0.5	\$3,791.50				
Class - Senior	Coordinator	Wool, Aimee	VI	8	0.5	\$3,791.50				
Class - Sophomore	Coordinator	Hoover, James	VIII	7	1.0	\$5,424.00				
Debate	Head Coach	Greenstein, Michael	IA	8	1.0	\$16,970.00				
Debate	Asst Coach	Harrigan, Casey	IV	8	0.5	\$5,179.50				
Debate	Asst Coach	Kirch, Karin	IV	8	0.5	\$5,179.50				
Debate	Asst Coach	McCaffrey, Kevin	IV	8	1.0	\$10,359.00				
Debate	Asst Coach	Pipkin, Stephen	IV	8	0.8	\$7,769.25				
Debate	Asst Coach	Fry, Chris	IV	6	0.3	\$2,261.50				
Debate	Asst Coach	Zuckerman, Jared	IV	8	1.0	\$10,359.00				
DECA	Asst Director	TBD	IX	7	0.5	\$1,770.00				
DECA	Director	Rast, Michael	VII	8	1.0	\$6,702.00				
DECA	Asst Director	Rast, Michael	IX	8	0.5	\$1,893.00				
District Orchestra	Director	Kaplan, Aaron	IV	8	0.5	\$5,179.50				
District Orchestra	Director	Meyer, Kristin	IV	8	0.5	\$5,179.50				
FCC Radio Responsibilities	Coordinator	Holecek, Peggy	IX	8	0.5	\$1,893.00				
FCCLA	Head Coach	Petty, Kim	VII	8	1.0	\$6,702.00				
Individual Events	Head Coach	Ilie, Sarah	III	8	1.0	\$11,387.00				
Individual Events	Asst Coach	Nevin, Gerald	V	8	1.0	\$8,922.00				
Individual Events	Asst Coach	Galson, Kerry	V	6	1.0	\$7,797.00				
Individual Events	Asst Coach	Bourke, Matthew	V	2	1.0	\$5,892.00				
Individual Events	Asst Coach	Arnett, Jennifer	V	8	0.5	\$4,461.00				
Individual Events	Asst Coach	Ticho, Amy	V	8	0.5	\$4,461.00				

2020-2021	Glenbrook North	High School - Activit	ies Di	fferer	ntials	
Assignment	Position	Employee	Lane	Step	FTE	Stipend
Life Saving	Director	TBD	IX	1	1.0	\$2,203.00
Literary Magazine	Sponsor	Galson, Kerry	VIII	8	0.5	\$2,899.00
Literary Magazine	Sponsor	Milkowski, Robert	VIII	8	0.5	\$2,899.00
Marching Band	Director	Briggs, Daniel	II	8	1.0	\$12,717.00
Marching Band	Asst Director	Baxmeyer, Alexandra	IV	8	1.0	\$10,359.00
Marching Band	Asst Director	Temple, Maureen	IV	2	1.0	\$6,839.00
Math Team	Asst Coach	Benson, Bradley	V	8	1.0	\$8,922.00
Math Team	Asst Coach	Campbell, Michael	V	8	1.0	\$8,922.00
Math Team	Head Coach	Goodman, Steve	III	8	1.0	\$11,387.00
Math Team	Asst Coach	Krickl, John	V	8	1.0	\$8,922.00
Math Team	Asst Coach	Lewis, Mark	V	8	1.0	\$8,922.00
Modern Dance Show	Director	Burns-O'Brien, Ashley	IV	8	1.0	\$10,359.00
Modern Dance Show	Asst Director	Mills, Monica	VI	4	1.0	\$5,782.00
Modern Dance Show	Asst Director	Lathrop, Gina	VI	2	1.0	\$5,011.00
Newspaper	Sponsor	Halpern, Bryan	IV	8	1.0	\$10,359.00
Play	Asst Director	TBD	VII	8	1.0	\$6,702.00
Play - Fall	Asst Director	Monaghan, Joel	VII	8	1.0	\$6,702.00
Play - Fall	Director	Broeker, Tim	VI	8	1.0	\$7,583.00
Play - Spring	Asst Director	Monaghan, Joel	VII	8	1.0	\$6,702.00
Play - Spring	Director	Hill, Julie Ann	VI	8	1.0	\$7,583.00
Play - Winter	Asst Director	Monaghan, Joel	VII	8	1.0	\$6,702.00
Play - Winter	Director	Broeker, Tim	VI	6	1.0	\$6,621.00
Pompon	Sponsor	Collins, Nicole	IV	5	1.0	\$8,454.00
Pompon	Asst Sponsor	Pater, Stacey	VI	2	1.0	\$5,011.00
Pompon	Asst Sponsor	TBD	VI	8	1.0	\$7,583.00
Radio/TV	Director	Holecek, Peggy	IV	8	1.0	\$10,359.00
Radio/TV	Director	Rubin, Todd	IV	8	1.0	\$10,359.00

2020-2021 Glenbrook North High School - Activities Differentials								
Assignment	Position	Employee	Lane	Step	FTE	Stipend		
Variety Show	Director	Ermel, Annie Jo	IV	8	0.6	\$6,314.12		
Variety Show	Asst Director	TBD	VI	8	0.3	\$2,496.73		
Variety Show	Asst Director	Davidson, Chad	VI	8	0.3	\$2,039.81		
Variety Show	Orchestra	Briggs, Dan	VI	8	0.4	\$2,782.89		
Variety Show	Technical Director	Monaghan, Joel	VI	8	0.6	\$4,683.18		
Yearbook	Sponsor	Kinsella, Kate	IV	8	1.0	\$10,359.00		
						\$409,451.48		

2020-2021 G	enbrook Sou	th High School - Activ	ities I	Differ	entials	S
Assignment	Position	Employee	Lane	Step	FTE	Stipend
Advanced Choral	Director	Toniolo, Andrew	VII	7	0.50	\$3,131.50
Advanced Choral	Director	Shellard, Robert	VII	8	0.50	\$3,351.00
Chess	Head Coach	Szpisjak, Steve	III	8	0.70	\$7,970.90
Chess	Head Coach	Boyle, Michael	III	8	0.30	\$3,416.10
Class - Freshman	Coordinator	Cowlin, John	VIII	5	1.00	\$4,732.00
Class - Junior	Coordinator	Chambers, Heather	VII	8	1.00	\$6,702.00
Class - Senior	Coordinator	Smith, Julie	VI	8	1.00	\$7,583.00
Class - Sophomore	Coordinator	Lowery, Kelly	VIII	7	1.00	\$5,424.00
Concessions	Sponsor	Jerva, Mia	VII	4	1.00	\$5,114.00
Debate	Head Coach	Corrigan, Alyssa	IA	2	1.00	\$11,202.00
Debate	Asst Coach	Tate, Tara	IV	8	0.50	\$5,179.50
Debate	Asst Coach	Noparstak, Theodore	IV	7	0.75	\$7,259.25
Debate	Asst Coach	Wells, Margaret	IV	4	0.75	\$5,916.75
Debate	Asst Coach	Jun, Jen	IV	3	0.50	\$3,691.50
Debate	Asst Coach	Sam (David) Gustavson	IV	8	1.00	\$10,359.00
Debate	Asst Coach	Corrigan, Abraham	IV	8	0.50	\$5,179.50
DECA/BPA	Director	McManamon, Rosanna	VII	8	1.00	\$6,702.00
DECA/BPA	Asst Director	Adams, Caitlin	IX	2	1.00	\$2,508.00
District Orchestra	Director	Meyer, Kristen	IV	8	0.50	\$5,179.50
District Orchestra	Director	Kaplan, Aaron	IV	7	0.50	\$4,839.50
FCC Radio Responsibilities	Coordinator	Oswald, Dan	IX	8	0.50	\$1,893.00
FCCLA	Head Coach	McDonald, Kelli	VII	8	0.50	\$3,351.00
FCCLA	Head Coach	Croak, Laura	VII	4	0.50	\$2,557.00
Individual Events	Head Coach	Stickels, Nancy	III	8	1.00	\$11,387.00
Individual Events	Asst Coach	Berkson, David	V	8	1.00	\$8,922.00
Individual Events	Asst Coach	Sorkin, Karla	V	5	0.50	\$3,642.50
Individual Events	Asst Coach	McKenzie, Alexandra	V	7	1.00	\$8,340.00

2020-2021 G	lenbrook Sou	th High School - Activ	vities I	Differ	entials	S
Assignment	Position	Employee	Lane	Step	FTE	Stipend
Individual Events	Asst Coach	Nevin, Rosa	V	4	1.00	\$6,809.00
Individual Events	Asst Coach	Campe, Grace	V	1	0.50	\$2,653.00
Life Saving	Director	MacDonald, Keith	IX	8	1.00	\$3,786.00
Literary Magazine	Sponsor	Elliott, Amie	VIII	6	1.00	\$5,070.00
Marching Band	Director	Boron, Brian	II	4	0.50	\$4,849.50
Marching Band	Director	Russell, Markeise	II	6	0.50	\$5,551.50
Marching Band	Asst Director	Vilches, Michael	IV	3	0.50	\$3,691.50
Marching Band	Asst Director	Boron, Brian	IV	4	0.50	\$3,944.50
Marching Band	Asst Director	Wiles, Don	IV	3	0.50	\$3,691.50
Marching Band	Asst Director	Russell, Markeise	IV	6	0.50	\$4,523.00
Math Team	Head Coach	Sutherlin, Ryan	III	8	1.00	\$11,387.00
Math Team	Asst Coach	Cope, Bryan	V	8	1.00	\$8,922.00
Math Team	Asst Coach	Flener, JoEllen	V	8	1.00	\$8,922.00
Math Team	Asst Coach	O'Dwyer, Catherine	V	5	1.00	\$7,285.00
Math Team	Asst Coach	Karlovsky, Joseph	V	8	1.00	\$8,922.00
Modern Dance	Director	Steinberg, Michelle	IV	4	0.60	\$4,733.40
Modern Dance	Director	Nestos, Elizabeth	IV	2	0.40	\$2,735.60
Modern Dance	Asst Director	Farekas, Sari	VI	2	0.50	\$2,505.50
Modern Dance	Asst Director	TBD	VI	7	0.60	\$4,251.60
Musical - Asst Director	Asst Director	TBD	TBD	TBD	1.00	\$3,600.00
Musical - Choreographer	Sponsor	TBD	TBD	TBD	1.00	\$3,700.00
Musical - Costumer	Sponsor	TBD	TBD	TBD	1.00	\$3,450.00
Musical - Director	Director	TBD	TBD	TBD	1.00	\$7,838.00
Musical - Orchestra	Director	TBD	TBD	TBD	1.00	\$5,068.00
Musical - Props	Asst Director	TBD	TBD	TBD	1.00	\$1,600.00
Musical - Sound	Director	TBD	TBD	TBD	1.00	\$3,000.00
Musical - Techincal	Asst Director	TBD	TBD	TBD	1.00	\$1,500.00

2020-2021	Glenbrook Sou	th High School - Act	ivities I	Differ	ential	S
Assignment	Position	Employee	Lane	Step	FTE	Stipend
Musical - Techincal	Asst Director	TBD	TBD	TBD	1.00	\$600.00
Musical - Techincal	Asst Director	TBD	TBD	TBD	1.00	\$600.00
Musical - Technical	Director	TBD	TBD	TBD	1.00	\$6,638.00
Musical - Tickets	Sponsor	TBD	TBD	TBD	1.00	\$380.00
Musical - Ushers	Sponsor	TBD	TBD	TBD	1.00	\$380.00
Musical - Vocal	Director	TBD	TBD	TBD	1.00	\$5,068.00
Newspaper	Sponsor	Wysocki, Robert	IV	8	1.00	\$10,359.00
Play	Asst Director	Cowlin, John	VII	3	1.00	\$4,776.00
Play - Fall	Director	Rawitz, Lauren	VI	8	1.00	\$7,583.00
Play - Fall	Asst Director	Winship, Richard	VII	8	1.00	\$6,702.00
Play - Spring	Director	TBD	VI	8	1.00	\$7,583.00
Play - Spring	Asst Director	TBD	VII	8	1.00	\$6,702.00
Play - Winter	Director	Cowlin, John	VI	8	1.00	\$7,583.00
Play - Winter	Asst Director	Winship, Richard	VII	2	1.00	\$4,421.00
Pompon - Competitive	Sponsor	Smith, Julie	III	8	1.00	\$11,387.00
Pompon Competitive	Asst Sponsor	Dundovich, Katelyn	V	5	1.00	\$7,285.00
Pompon Competitive	Asst Sponsor	Sideris, Zoey	V	2	0.80	\$4,731.60
Pompon Competitive	Asst Sponsor	Raciak, Stephanie	V	3	0.20	\$1,272.40
Radio/TV	Director	Benca, Julie	IV	7	1.00	\$9,679.00
Radio/TV	Director	Oswald, Dan	IV	8	1.00	\$10,359.00
Variety Show	Asst Director	Toniolo, Andrew	VI	7	0.50	\$3,543.00
Variety Show	Asst Director	Karlovsky, Joseph	VI	3	0.50	\$2,700.00
Variety Show	Director	Shellard, Robert	IV	7	0.50	\$4,839.50
Variety Show	Director	Lampert, Marla	IV	8	0.50	\$5,179.50
Yearbook	Sponsor	Field, Brenda	IV	8	1.00	\$10,359.00
						\$430,233.10

2020-2021- Glenbrook North High School - Activities Discretionaries								
Assignment	Position	Employee	Stipend	FTE	Contract			
Activities Coordinator	Coordinator	Fluegge, Danielle	\$1,969	4.00	\$7,881			
After School All Stars	Sponsor	Manly, Stephanie	\$1,969	1.00	\$1,969			
Art Designer	Coordinator	Milkowski, Robert	\$1,969	1.00	\$1,969			
Art Nat'l Honor Society	Sponsor	Milkowski, Robert	\$1,969	0.50	\$985			
Art Nat'l Honor Society	Sponsor	Block, Leanne	\$1,969	0.50	\$985			
Awards Show Tech	Director	Monaghan, Joel	\$1,969	1.27	\$2,501			
Chamber Groups	Sponsor	Baxmeyer, Alexandra	\$1,969	1.00	\$1,969			
Chess	Asst Sponsor	Levy, Adam	\$1,969	1.00	\$1,969			
Circle of Friends	Sponsor	Sullivan, Darin	\$1,969	1.00	\$1,969			
Coding Club	Sponsor	Goodman, Stephen	\$1,969	1.00	\$1,969			
Colossal	Sponsor	Valsamis, Tony	\$1,969	1.00	\$1,969			
Debate	Asst Coach	Nelson, Kenneth Jr.	\$1,969	1.00	\$1,969			
DECA	Asst Coach	Ingersoll, Mindy	\$1,969	1.00	\$1,969			
Environmental Club	Sponsor	Kallay, Jeffrey	\$1,969	0.50	\$985			
Environmental Club	Sponsor	Ludolph, Amy	\$1,969	0.50	\$985			
Faculty Parent Male Choir	Director	Davidson, Chad	\$1,969	1.00	\$1,969			
Winter Showcase	Director	TBD	\$1,969	1.00	\$1,969			
FCCLA	Asst Sponsor	Tenuta, Tori	\$1,969	1.00	\$1,969			
Fermata Nowhere	Sponsor	Nichols, Kelsey	\$1,969	1.00	\$1,969			
Friends and Co	Sponsor	Wallis, Amanda	\$1,969	1.00	\$1,969			
Future Educators of America	Sponsor	Basford, Stephanie	\$1,969	1.00	\$1,969			
Science Club (Gadget)	Sponsor	Valsamis, Tony	\$1,969	0.50	\$985			
Science Club (Gadget)	Sponsor	Grdnic, Marcel	\$1,969	0.50	\$985			
Gay/Straight Alliance	Sponsor	Ellinger-Macon, Jaime	\$1,969	0.50	\$985			
Gay/Straight Alliance	Sponsor	Knapp, Scott	\$1,969	0.50	\$985			
Global Citizenship	Sponsor	Grimaldi, John	\$1,969	1.00	\$1,969			
Graduation	Sponsor	Maskin, Debra	\$1,969	0.59	\$1,169			

2020-2021- Glenbrook North High School - Activities Discretionaries								
Assignment	Position	Employee	Stipend	FTE	Contract			
Play Productions	Sponsor	Mills, Courtney	\$1,969	1.00	\$1,969			
Group Interp/Contest Play	Sponsor	Sanchez, Miguel	\$1,969	1.00	\$1,969			
Hellenic Club	Sponsor	Houmpavlis, Konstantena	\$1,969	0.50	\$985			
Hellenic Club	Sponsor	Balaskas, Dimitra	\$1,969	0.50	\$985			
Homecoming Float Building	Sponsor	TBD	\$1,969	0.50	\$985			
Homecoming Float Building	Sponsor	Romito, Anthony	\$1,969	0.50	\$985			
Interact Club	Sponsor	Rose, Christina	\$1,969	1.00	\$1,969			
Intramurals	Director	Ruppert, Barry	\$1,969	2.81	\$5,530			
Key Club	Sponsor	Bucklin, Bridget	\$1,969	0.80	\$1,580			
Key Club	Sponsor	Ruesch, Laura	\$1,969	0.80	\$1,580			
Pan-Asian Student Society	Sponsor	Jund, Stephanie	\$1,969	1.00	\$1,969			
Ladies First Choir	Director	Nichols, Kelsey	\$1,969	1.00	\$1,969			
Marching Band	Director	Fong, Anne	\$1,969	0.51	\$1,000			
Marching Band	Sponsor	Fong, Braden	\$1,969	0.51	\$1,000			
Marching Band	Director	Rambert, Colin	\$1,969	0.96	\$1,900			
Model United Nations	Sponsor	Hoynes, Jerome	\$1,969	1.00	\$1,969			
Model United Nations	Sponsor	Rast, Michael	\$1,969	1.00	\$1,969			
Kids 4 The Cure	Sponsor	Bauer, Christine	\$1,969	0.50	\$985			
Kids 4 The Cure	Sponsor	Vogg, Amanda	\$1,969	0.50	\$985			
National Honor Society	Sponsor	Boyle, David	\$1,969	1.00	\$1,969			
Newcomers Club	Sponsor	Niemiec, Craig	\$1,969	1.00	\$1,969			
Newspaper (Torch)	Sponsor	Milkowski, Robert	\$1,969	1.00	\$1,969			
Open Forum	Sponsor	Jund, Stephanie	\$1,969	0.50	\$985			
Open Forum	Sponsor	Emmert, Lauren	\$1,969	0.50	\$985			
Ow!	Sponsor	Nichols, Kelsey	\$1,969	1.00	\$1,969			
PAWS	Sponsor	Rogers, Rebecca	\$1,969	1.00	\$1,969			
Pep Band	Director	Baxmeyer, Alexandra	\$1,969	1.00	\$1,969			

2020-2021- Glenbro	ok North Hig	h School - Activities Dis	cretiona	ries	
Assignment	Position	Employee	Stipend	FTE	Contract
Pep Band	Asst Director	Briggs, Daniel	\$1,969	1.00	\$1,969
Asst Tech Play Productions	Sponsor	Bourke, Matthew	\$1,969	1.57	\$3,100
Scholastic Bowl	Sponsor	Reimer, Kelly	\$1,969	1.00	\$1,969
Scholastic Bowl	Asst Sponsor	DiCristofano, Anthony	\$1,969	0.50	\$985
S.C.H.O.O.L.	Sponsor	Timmer, Nicholas	\$1,969	1.00	\$1,969
Spartan Buddies	Sponsor	Schneider, Kristen	\$1,969	1.00	\$1,969
Spartan Medical Club	Sponsor	McDonaugh, Maureen	\$1,969	1.00	\$1,969
Spartans Inspire	Sponsor	Sullivan, Darin	\$1,969	0.50	\$985
Spartans Inspire	Sponsor	Edison, Bill	\$1,969	0.75	\$1,477
Spartans Inspire	Sponsor	TBD	\$1,969	0.50	\$985
Spartans Inspire	Sponsor	Tripple, Kirby	\$1,969	0.50	\$985
Spartan Spirit Squad	Sponsor	Weiner, Justin	\$1,969	0.50	\$985
Spartan Spirit Squad	Sponsor	Lauren Carranza	\$1,969	0.50	\$985
Spec Projects/AA Video	Sponsor	Rubin, Todd	\$1,969	1.00	\$1,969
Student Directed One Acts	Director	Ticho, Amy	\$1,969	1.00	\$1,969
Theater Club	Sponsor	Hill, Julie Ann	\$1,969	0.50	\$985
Theater Club	Sponsor	Broeker, Timothy	\$1,969	0.50	\$985
Tri-M Honor Society	Sponsor	Briggs, Daniel	\$1,969	1.00	\$1,969
V-Show Arrangement	Coordinator	TBD	\$1,969	1.03	\$2,035
V-Show Arrangement	Coordinator	TBD	\$1,969	0.52	\$1,018
V-Show Arrangement	Coordinator	TBD	\$1,969	0.21	\$407
V-Show Arrangement	Coordinator	TBD	\$1,969	0.31	\$611
V-Show Arrangement	Coordinator	TBD	\$1,969	0.10	\$204
V-Show Sound	Sponsor	TBD	\$1,969	1.52	\$3,000
V-Show Sr. Guy/Girl Coord	Coordinator	TBD	\$1,969	1.00	\$1,969
V-Show Sr. Guy/Girl Coord	Coordinator	TBD	\$1,969	1.00	\$1,969
V-Show Video	Coordinator	TBD	\$1,969	1.00	\$1,969

2020-2021- Glenbro	ok North Hi	gh School - Activities I	Discretiona	ries	
Assignment	Position	Employee	Stipend	FTE	Contract
V-Show House Manager	Sponsor	TBD	\$1,969	0.17	\$335
V-Show Tickets	Sponsor	TBD	\$1,969	0.21	\$419
World Languages Honor Society	Co-Sponsor	Figiel, Jennifer	\$1,969	1.00	\$1,969
World Languages Honor Society	Co-Sponsor	Vogg, Amanda	\$1,969	1.00	\$1,969
					\$143,038
Circle of Friends (SpEd Acct# D141)	Sponsor	Gomez, Lillian	\$1,969	1.00	\$1,969
Spartan Buddies (SpEd Acct# D141)	Sponsor	Scott, Mardi	\$1,969	1.00	\$1,969
SpEd Liaison (SpEd Acct# D141)	Sponsor	Layfield, Chris	\$1,969	1.00	\$1,969
					\$5,907
Debate (SAF - DDXTRA)	Asst Coach	Meyers-Levy, Dustin	\$1,969	3.05	\$6,000
Debate (SAF - DDXTRA)	Asst Coach	Trufanov, Anthony	\$1,969	3.05	6,000.00
					\$12,000
					\$160,945

2020-2021 - Glenbi	rook South High Sc	hool - Activities Disc	2020-2021 - Glenbrook South High School - Activities Discretionaries								
Assignment	Position	Employee	Stipend	FTE	Contract						
Academic Bowl	Head Coach	Kane, David	\$1,969	1.00	\$1,969.00						
Academic Bowl	Asst Coach	Fraher, Carrie	\$1,969	1.00	\$1,969.00						
Amnesty International	Sponsor	Fogerty, Gerald	\$1,969	1.00	\$1,969.00						
Art Club	Sponsor	Fuja, Stephanie	\$1,969	1.00	\$1,969.00						
Bass Fishing	Sponsor	Schmalzer, Bryan	\$1,969	0.50	\$984.50						
Bass Fishing	Sponsor	Zummo, Justin	\$1,969	0.50	\$984.50						
Black Student Union	Sponsor	Andrea Ball-Ryan	\$1,969	1.00	\$1,969.00						
Board Game Club	Sponsor	Osterbur, Lucas	\$1,969	0.50	\$984.50						
Cause for Paws Club	Sponsor	Witt, Bruni	\$1,969	0.39	\$759.15						
Council for Exceptional Children	Sponsor	Spellman, Julie	\$1,969	1.00	\$1,969.00						
Coding Club	Sponsor	Rogers, David	\$1,969	1.00	\$1,969.00						
Comedy Sportz	Sponsor	Karlovsky, Joe	\$1,969	1.00	\$1,969.00						
Costumer - Spring Play	Sponsor	TBD	\$1,969	0.65	\$1,279.85						
Costumer - Winter Play	Sponsor	TBD	\$1,969	0.65	\$1,279.85						
Costumer - Fall Play	Sponsor	TBD	\$1,969	0.90	\$1,772.10						
Costumer - Fall Play	Sponsor	TBD	\$1,969	0.20	\$393.80						
Cure Club	Sponsor	Stein, Deborah	\$1,969	1.00	\$1,969.00						
DeLaCru Dance	Sponsor	Moulakelis, Patricia	\$1,969	1.30	\$2,559.70						
Desi Club	Sponsor	Schullo, Sejal	\$1,969	1.00	\$1,969.00						
Drama Club	Sponsor	Stickels, Nancy	\$1,969	1.00	\$1,969.00						
Elpida	Sponsor	Hartman, David	\$1,969	0.50	\$984.50						
Elpida	Sponsor	Osterbur, Lucas	\$1,969	0.50	\$984.50						
Fencing Club	Sponsor	Iriarte, Rafael	\$1,969	1.00	\$1,969.00						
Fencing Club	Sponsor	TBD	\$1,969	1.00	\$1,969.00						
Gay/Straight Alliance	Sponsor	Chambers, Heather	\$1,969	0.50	\$984.50						
Gay/Straight Alliance	Sponsor	Bertke, Matthew	\$1,969	0.50	\$984.50						
German Club	Sponsor	Haugh, Lauren	\$1,969	0.50	\$984.50						

2020-2021 - Glenbrook South High School - Activities Discretionaries									
Assignment	Position	Employee	Stipend	FTE	Contract				
German Club	Sponsor	Toth, Renate	\$1,969	0.50	\$984.50				
Girl's Letter Club	Sponsor	Minogue, Thea	\$1,969	0.50	\$984.50				
Girl's Letter Club	Sponsor	Kelliher, Victoria	\$1,969	0.50	\$984.50				
Hellenic Club	Sponsor	Skaouris, Afrodite	\$1,969	1.00	\$1,969.00				
Titan Stars	Coordinator	Caitlin Reichart	\$1,969	0.50	\$984.50				
History Club	Sponsor	Lupfer, Elizabeth	\$1,969	0.09	\$173.27				
Homecoming Float	Coordinator	Silca, Stephen	\$1,969	0.58	\$1,142.02				
Homecoming Float	Coordinator	Cowlin, John	\$1,969	0.50	\$984.50				
Homecoming Float	Coordinator	Elliott, Amie	\$1,969	0.50	\$984.50				
Horticulture Team	Sponsor	McBride, Erin	\$1,969	1.00	\$1,969.00				
Interact Club	Sponsor	Gallagher, Mark	\$1,969	2.00	\$3,938.00				
Interact Club	Sponsor	TBD	\$1,969	1.00	\$1,969.00				
Interact Club	Sponsor	Pavic, Lisa	\$1,969	1.00	\$1,969.00				
Intramurals (all year)	Coordinator	Zummo, Justin	\$1,969	2.00	\$3,938.00				
Japanese Animated Art Club	Sponsor	Mulloy, Joe	\$1,969	1.00	\$1,969.00				
Japanese Club	Sponsor	Makita-Discekici, Yasuko	\$1,969	1.00	\$1,969.00				
Jazz Band	Sponsor	Boron, Brian	\$1,969	1.00	\$1,969.00				
Jazz Band	Sponsor	Russell, Markeise	\$1,969	1.00	\$1,969.00				
JETS Engineering Club	Sponsor	TBD	\$1,969	0.33	\$649.77				
JETS Engineering Club	Sponsor	Sinde, Michael	\$1,969	0.33	\$649.77				
JETS Engineering Club	Sponsor	Zummo, Justin	\$1,969	0.33	\$657.65				
Juggling Club	Sponsor	Shellard, Robert	\$1,969	1.00	\$1,969.00				
Key Club	Sponsor	Pritzker, Jessica	\$1,969	2.00	\$3,938.00				
Key Club	Sponsor	Fogarty, Gerald	\$1,969	1.00	\$1,969.00				
Key Club	Sponsor	Zamora, Jorge	\$1,969	1.00	\$1,969.00				
Key Club	Sponsor	Skaouris, Afrodite	\$1,969	1.00	\$1,969.00				
Knitting Club	Sponsor	Garbe, Kimi	\$1,935	0.50	\$967.50				

2020-2021 - Glenbrook South High School - Activities Discretionaries								
Assignment	Position	Employee	Stipend	FTE	Contract			
Korean American Student Association	Sponsor	Moon, Mina	\$1,969	1.00	\$1,969.00			
Latino Heat Dance Club	Sponsor	Gillani, Riaz	\$1,969	1.00	\$1,969.00			
Latinos Unidas	Sponsor	Reyes, Veronica	\$1,969	0.50	\$984.50			
Latinos Unidas	Sponsor	Mikos, Gabby	\$1,969	0.50	\$984.50			
Mock Trial Team	Sponsor	Quigley, Gwen	\$1,969	0.50	\$984.50			
Mock Trial Team	Sponsor	Kane, David	\$1,969	0.50	\$984.50			
Model United Nations	Sponsor	Kahle, Thomas	\$1,969	1.00	\$1,969.00			
Model United Nations	Sponsor	Sisler, Jesse	\$1,969	1.50	\$2,953.50			
National Honor Society	Sponsor	Crandus, Hillel	\$1,969	0.50	\$984.50			
National Art Honor Society	Sponsor	Fuja, Stephanie	\$1,969	0.50	\$984.50			
Paradox	Sponsor	Garbe, David	\$1,969	0.50	\$984.50			
Paradox	Sponsor	Glass, Scott	\$1,969	0.50	\$984.50			
Paranormal Club	Sponsor	Mulloy, Joe	\$1,969	0.50	\$984.50			
Peer Mentors	Coordinator	Smigiel, Lindsey	\$1,969	0.50	\$984.50			
Peer Mentors	Coordinator	Williams, Megan	\$1,969	0.50	\$984.50			
Pencils of Promise	Sponsor	Mulligan, Sandy	\$1,969	0.50	\$984.50			
Pep Band	Sponsor	Boron, Brian	\$1,969	0.50	\$984.50			
Pep Band	Sponsor	Russell, Markeise	\$1,969	0.50	\$984.50			
Pep Club	Sponsor	Davis, Sarah	\$1,969	1.00	\$1,969.00			
Pep Club Asst.	Sponsor	Cowhey, Robert	\$1,969	0.50	\$984.50			
Play Props - Fall	Sponsor	TBD	\$1,969	0.34	\$659.62			
Play Props - Winter	Sponsor	TBD	\$1,969	0.34	\$659.62			
Polish Club	Sponsor	Szczur, Natalie	\$1,969	1.00	\$1,969.00			
Scat That!	Sponsor	Toniolo, Andrew	\$1,969	1.00	\$1,969.00			
WiSTEM	Sponsor	Serling, Jill	\$1,969	1.00	\$1,969.00			
Science Olympiad	Sponsor	Serikaku, Jill	\$1,969	1.00	\$1,969.00			
Science Olympiad	Sponsor	Pavic, Lisa	\$1,969	0.50	\$984.50			

2020-2021 - Glenbrook South High School - Activities Discretionaries								
Assignment	Position	Employee	Stipend	FTE	Contract			
Science Olympiad	Sponsor	Thomas, Madaline	\$1,969	0.50	\$984.50			
Science Olympiad	Sponsor	Davis, Sarah	\$1,969	0.50	\$984.50			
Science Olympiad	Sponsor	TBD	\$1,969	0.50	\$984.50			
Fashion Magazine (Stitched)	Sponsor	Elliott, Amie	\$1,969	0.50	\$984.50			
S.O.A.R. (Students Organized Against Racism)	Sponsor	Eckstrand, Emily	\$1,969	0.50	\$984.50			
S.O.A.R. (Students Organized Against Racism)	Sponsor	Barajas, Stephanie	\$1,969	0.50	\$984.50			
Solace	Sponsor	Shellard, Robert	\$1,969	1.00	\$1,969.00			
STAND	Sponsor	Rhoades, Daniel	\$1,969	0.30	\$590.70			
STAND	Sponsor	Whipple, Matthew	\$1,969	0.70	\$1,378.30			
Student to Student Club	Sponsor	Shipp, Meghan	\$1,969	1.00	\$1,969.00			
Student to Student Club	Sponsor	TBD	\$1,969	1.00	\$1,969.00			
Student to Student Club	Sponsor	TBD	\$1,969	1.00	\$1,969.00			
Feminist Club	Sponsor	Kinsella, Ryan	\$1,969	1.00	\$1,969.00			
Tutoring Project (Onward House)	Sponsor	Katz, Tara	\$1,969	1.00	\$1,969.00			
Tutoring Project (Onward House)	Sponsor	Coskey, Kathy	\$1,969	1.00	\$1,969.00			
Tri-M Music Honor Society	Sponsor	Markeise Russell	\$1,969	0.50	\$984.50			
Winter Play Assistant	Sponsor	TBD	\$1,969	0.33	\$649.77			
Chinese Club	Sponsor	Wu, Hong	\$1,969	0.50	\$984.50			
WiSTEM	Sponsor	Davis, Sarah	\$1,969	0.50	\$984.50			
Pep Club	Sponsor	Serling, Jill	\$1,969	0.50	\$984.50			
Variety Show - Arrangement	Sponsor	TBD	\$1,969	1.58	\$3,103.54			
Variety Show - Asst. Director	Sponsor	TBD	\$1,969	1.50	\$2,953.50			
Variety Show - Asst. Director	Sponsor	TBD	\$1,969	1.50	\$2,953.50			
Variety Show - Asst. Director	Sponsor	TBD	\$1,969	1.50	\$2,953.50			
Variety Show - Asst. Director	Sponsor	TBD	\$1,969	1.50	\$2,953.50			
Variety Show - Costumer	Sponsor	TBD	\$1,969	2.00	\$3,938.00			
Variety Show - Make-up	Sponsor	TBD	\$1,969	0.23	\$452.87			

2020-2021 - Glenbrook South High School - Activities Discretionaries								
Assignment	Position	Employee	Stipend	FTE	Contract			
Variety Show - Singer Dancer	Sponsor	Cottrell, Dayna	\$1,969	1.00	\$1,969.00			
Variety Show - Tech Director	Sponsor	Winship, Rich	\$1,969	3.40	\$6,694.60			
Variety Show - Tech Assistant	Sponsor	TBD	\$1,969	1.80	\$3,544.20			
Variety Show- Tickets/ Booth Mgr.	Sponsor	Wheeler, Rebecca	\$1,969	0.25	\$492.25			
Variety Show - Ushers/House Mgr.	Sponsor	Alpert, Amelia	\$1,969	0.25	\$492.25			
					\$181,630.63			
SpEd Liaison (SpEd Acct #D141)	Sponsor	Berkley, Steven	\$1,969	0.50	\$984.50			
SpEd Liaison (SpEd Acct #D141)	Sponsor	Feeney, Julie	\$1,969	0.50	\$984.50			
Council of Exceptional Children (SpEd Acct #D141)	Sponsor	Komaschka, Amanda	\$1,969	1.00	\$1,969.00			
					\$2,953.50			
					\$184,584.13			